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sin a+sin f=2sin[(a+8)/2] * cos[(a-8)/2]

sin a-sin B=2cos[(a+p)/2] «sin[ (a-F)/2]

cos a+cos B=2cos[(a+p)/2] «cosl(a-8)/2]

cos a-cos B=-2sin[(a+pB)/2] *sin[(a-8)/2] [HEELXFTH
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sin a+sin B=2sin[(a+B)/2] e cos[(a-8)/2]KIEHTE
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sin(a+B)=sin acos B+cos asin B,
sin(a-pB)=sin acos B -cos asin B,
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sin(a+8)+sin(a~-p£)=2sin acos B,

w a+B=0, a-B=¢
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a=(0+¢)/2, B=(0-¢) /2
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sin 6 +sin @& =2sin[ (0 +®)/2lcos[( 8- ) /2]
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tana £tanB=sin(a £ B)/(cosa *cosB) CHIUEM)
cota +cotB=sin(B +a)/(sina ¢ sinB)

tana +cot B=cos(a-B)/(cosa sinfB)

tana —cot B=-cos(a+B)/(cosa *sinB)

WEBH: Aifi=tana £tanB=sina /cosa £sinB /cos B
=(sina ¢ cosB ftcosa *sinB)/(cosa *cosB)
=sin(a £ B)/(cosa *cosB)=FHil
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cos(a-B)-cos(a+B)

=[(cosacosB+sinasinB)-(cosacosB-sinasinB)]

=2sina sinB
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sina sinB=[cos(a-B)-cos(a+B)]/2 (JEE: W ZERRZXEMNL
AR 5L HT )

B E/E: sinasinB=-[cos(a+B)-cos(a-B)]/2 (JEE: HE AR
HARS)

cos a cos B=[cos(a—-B)+cos(a+B)]/2

sina cosB=[sin(a+B)+sin(a-B)]/2

cosasinB=[sin(a+B)-sin(a-B)]1/2
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sina sinB=-1/2[-2sina sin B ]
=—1/2[(cosa cosB-sinasinB)-(cosacosB +sina sinB)]
==1/2[cos(a+B)-cos(a-B)]
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cos(a-B)-cos(a+B)

=(cosacosB+sinasinB)-(cosacosB-sinasinB)

=2sina sinB
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LR XY N AR sina=[2tan(a/2)]/{1+[tan(a/2)]"2}
cosa=[1-tan(a/2)"2]/{1+[tan(0/2)]"2}
tana=[2tan(a/2)]/{1-[tan(a/2)]"2}
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sina=2sin(a/2)cos(a/2)=[2sin(a/2)cos(a/2)]/[sin(a/2)"2+cos(0/2)"2]=[2tan(a/2)]/[ 1+(tana/
2)"2]

cosa=[cos(0/2)"2-sin(a/2)"2]=[cos(a/2)"2-sin(a/2)"2]/[sin(a/2)"2+cos(a/2)"2]=[1-tan(a/2)
A2]/[1+(tana/2)"2]
tana=tan[2*(a/2)]=2tan(a/2)/[1-tan(a/2)*2]=[2tan(0/2)]/[1-(tana/2)"2]
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sinf = = ]
14 tan® = '
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